

# Invoice

Please Remit To:



Magnolia Exposition Services  
10 Lexington Avenue  
Gloucester, MA 01930  
Phone: (978) 704-9211 (978) 704-9211

Date: 9/21/2018

Paul Thirty  
Third Parties R Us  
100 Main Street  
Boston MA  
Phone:

**Event:** Massachusetts Lobstermen's Association 2018

**Dates:** 1/15/2019 - 1/18/2019

**Location:** DCU Center

## Booth #: 102 (Whale's Tale)

Item	Qty	Unit Price	St	Unit	Dur	Total
6' Skirted Table <b>Color:</b> Blue	2.00	\$110.00	AD	Each		\$220.00
6' Riser	1.00	\$45.00	AD	Each		\$45.00
Skirt - 30" Blue	2.00	\$0.00	ST	Each		\$0.00
Padded Arm Chair	1.00	\$111.00	AD	Each		\$111.00
Upholstered Side Chair	2.00	\$90.00	AD	Each		\$180.00
Wastebasket	1.00	\$20.00	AD	Each		\$20.00
10' x 10' Standard Carpet <b>Color:</b> Blue	1.00	\$145.00	AD	Each		\$145.00
30" Round Café Table, Graphite Top	2.00	\$254.00	AD	Each		\$508.00
<b>**Estimate Only - Not Included in Order Total</b>						
Dismantle Display Labor	1.00	\$78.00	AD	Per Worker Per Hr	2.00	\$156.00
Start: Fri 1/18/2019 10:00 AM Fri 1/18/2019 12:00 PM						
<b>Dismantle Supervision:</b> Supervision by Exhibitor Personnel						

<b>Order Total Taxable:</b>	<b>\$893.00</b>
<b>Order Total Non Taxable:</b>	<b>\$0.00</b>
<b>6.25% Sales Tax:</b>	<b>\$55.81</b>
<b>Order Total:</b>	<b>\$948.81</b>
<b>Amount Paid:</b>	<b>\$948.81</b>
<b>Balance:</b>	<b>\$0.00</b>

## Order Payment History

9/14/2018 9:44 AM	Check - Record/Receive	(\$948.81)	\$948.81
-------------------	---------------------------	------------	----------

# Invoice

Please Remit To:



Magnolia Exposition Services  
 10 Lexington Avenue  
 Gloucester, MA 01930  
 Phone: (978) 704-9211 (978) 704-9211

Date: 9/21/2018

Paul Thirty  
 Third Parties R Us  
 100 Main Street  
 Boston MA  
 Phone:

**Event:** Massachusetts Lobstermen's Association 2018

**Dates:** 1/15/2019 - 1/18/2019

**Location:** DCU Center

## Booth #: 456 (Broadsoft Hospitality)

Item	Qty	Unit Price	St	Unit	Dur	Total
4' Skirted Table <b>Color:</b> Red	1.00	\$90.00	AD	Each		\$90.00
Skirt - 30" Red	1.00	\$0.00	ST	Each		\$0.00
Wastebasket	1.00	\$20.00	AD	Each		\$20.00
<b>**Estimate Only - Not Included in Order Total</b>						
Display Installation Labor <b>Installation Supervision:</b> Supervision by MES - Add 30%	1.00	\$78.00	AD	Per Worker Per Hr	2.00	\$156.00
Start: Mon 1/14/2019 8:00 AM Mon 1/14/2019 10:00 AM						
Install Labor Supervision (30%)	1.00	\$46.80	ST	Each		\$46.80

<b>Order Total Taxable:</b>	<b>\$110.00</b>
<b>Order Total Non Taxable:</b>	<b>\$0.00</b>
<b>6.25% Sales Tax:</b>	<b>\$6.88</b>
<b>Order Total:</b>	<b>\$116.88</b>
<b>Amount Paid:</b>	<b>\$0.00</b>
<b>Balance:</b>	<b>\$116.88</b>

# Invoice

Please Remit To:



Magnolia Exposition Services  
 10 Lexington Avenue  
 Gloucester, MA 01930  
 Phone: (978) 704-9211 (978) 704-9211

Date: 9/21/2018

Paul Thirty  
 Third Parties R Us  
 100 Main Street  
 Boston MA  
 Phone:

**Event:** Massachusetts Lobstermen's Association 2018

**Dates:** 1/15/2019 - 1/18/2019

**Location:** DCU Center

## Booth #: 666 (Summit Sports, Inc.)

Item	Qty	Unit Price	St	Unit	Dur	Total
Padded Arm Chair	2.00	\$75.00	AD	Each		\$150.00
10' x 10' Standard Carpet <b>Color:</b> Grey	1.00	\$145.00	AD	Each		\$145.00
Display Installation Labor	1.00	\$78.00	AD	Per Worker Per Hr	4.00	\$312.00
Start: Tue 1/15/2019 10:00 AM Tue 1/15/2019 2:00 PM						
<b>Installation Supervision:</b> Supervision by Exhibitor Personnel						
Advance Freight Shipment	4.00	\$70.00	ST	Per CWT		\$280.00

<b>Order Total Taxable:</b>	<b>\$295.00</b>
<b>Order Total Non Taxable:</b>	<b>\$592.00</b>
6.25% Sales Tax:	\$18.44
<b>Order Total:</b>	<b>\$905.44</b>
<b>Amount Paid:</b>	<b>\$0.00</b>
<b>Balance:</b>	<b>\$905.44</b>

**Event:** Massachusetts Lobstermen's Association 2018  
**Dates:** 1/15/2019 - 1/18/2019  
**Location:** DCU Center  
**Contact:** Paul Thirty  
Third Parties R Us

---

<b>Grand Total:</b>	<b>Sub Total Taxable:</b>	<b>\$1,634.00</b>
	<b>Sub Total Non Taxable:</b>	<b>\$592.00</b>
	<b>6.25% Sales Tax:</b>	<b>\$102.13</b>
	<b>Grand Total:</b>	<b>\$2,328.13</b>
	<b>Amount Paid:</b>	<b>\$1,187.87</b>
	<b>Balance Due:</b>	<b>\$1,140.26</b>